IFI L E
B
0] [] []
L - YUy it (A) X2k
I . 7%
- __-_-_-_-_-4:-_-_-_-_-__ e

J;h - T

! _A y-yyy kit (B) X1k

\.|J

AbOy5yhy b y-Uy it
B R A B C D il ¥t e E F G H I
TDW250 1024 924 100 190 M8X150-2 35 35 35 200 1100
TDW300 1249 1149 100 254 M8X150-3 1 ¥ 40 40 40 230 1220
TDW350 1443 1343 100 290 M8X150-3 45 50 50 270 1410
TDW400 850 750 100 326 M8X150-8 45 55 55 300 1595
TDW450 944 844 100 362 M8X150-10 50 60 60 340 1780
TDWS00 1050 950 100 375 M8X150-10 2mlE 65 70 70 410 | 2000
TDW600 1184 1084 100 450 M8X150-10 70 85 85 410 | 2300
XPREIBRECELZV T,
XA by N-OMERVEIE. BEBILRERVET,
X%, ARSEEHAKENA, FTEEKEET3HAIHYV ET. (H2B.3)

(mm)

y-yyiftatoysyhry b (TDW250~600)

T ¥ kRN %t




